7 N
T

Architectural Testing

AAMA/WDMA/CSA
TEST REPORT

Rendered to:

United States Aluminum

PRODUCT TYPE: Casement
SERIES/MODEL: 7400

Title Summary of Results
Primary Product Designator C-C70 1091 x 1581 (43 x 62)
Design Pressure™ 3360 Pa (70.18 psf)
Negative Design Pressure* 3360 Pa (70.18 psf)
Operating Force (in motion) 22 N (5 1bf)
Air Infiltration 0.10 L/s/m” (0.02 cfim/ft*)
Water Penetration Resistance Test Pressure™ 580 Pa (12.11 psf)
Uniform Load Structural Test Pressure +5040 Pa (105.26 psf)
Forced Entry Resistance Grade 10
*-Optional Secondary Designators Test Completion Date: 10/20/06

Reference must be made to Report No. 68583.01-801-47 for complete test specimen description
and data.

2865 Market Loop, Suite B
Southlake, Texas 76092
phone: 817-410-7202
fax: 817-424-8463
www.archtest.com



7 N
T

Architectural Testing

AAMA/WDMA/CSA TEST REPORT

Rendered to:

UNITED STATES ALUMINUM
200 Singleton Drive
Waxahachie, TX 75165
Report No.: 68583.01-801-47

Test Date: 10/20/06
Report Date: 10/31/06
Revision 1: 12/14/06
Expiration Date: 10/20/10

Project Summary: Architectural Testing, Inc. (ATI) was contracted by United Stats Aluminum
to witness testing on a Series/Model 7400, casement window at United Stats Aluminum test
facility in Waxahachie, TX. The sample tested successfully met the performance requirements
for a C-C70 1091 x 1581 (43 x 62) rating. Test specimen description and results are reported
herein.

Test Specification: The test specimen was evaluated in accordance with:

AAMA/WDMA/CSA 101/1.S.2/A440-05, Standard/Specification for Windows, Doors, and Unit
Skylights

Test Specimen Description:
Series/Model: 7400
Product Type: Casement
Overall Size: 1091 mm (42-15/16") wide by 1581 mm (62-1/4") high
Rough Opening Size: 1104 mm (43-7/16") wide by 1594 mm (62-3/4") high
Vent Size: 1041 mm (41") wide by 1527 mm (60-1/8") high
Overall Area: 1.7242 m? (18.56 ft%)

Glazing Type: Sealed insulating glass with two pieces of 1/4" annealed glass and a 1/2"
aluminum spacer. 1" overall thickness. Glass size: (40") wide by (59") high. Bite was
(172").

Note: This glazing exceeds thickness requirements as specified in ASTM E 1300-03.

Reinforcement: None

2865 Market Loop, Suite B
Southlake, Texas 76092
phone: 817-410-7202
fax: 817-424-8463
www.archtest.com



&

T

Architectural Testing

Test Specimen Description: (Continued)

Finish: Painted aluminum

68583.01-801-47

Page 2 of 7

Revision 1: 12/14/06

Frame Construction: Frame members were thermally broken with an isobar. Frame
corners were coped, butted, secured with two #8 x 1" screws, and sealed full perimeter with
seam sealer. Screw heads were sealed with seam sealer. Hinges were sealed full perimeter
to the jambs with seam sealer. Limit device fasteners were sealed with seam sealer.

Frame Component Parts List:

Description Quantity Part#
Head/Sill interior 1 WN 402
Head/Sill exterior 1 WN 401
Jamb interior 2 WN 404
Jamb exterior 2 WN 403
Polyamide thermobar 4 TB 146

Manufacturer
US Aluminum
US Aluminum
US Aluminum
US Aluminum
Ensinger

Sash Construction: Sash corners were mitered and crimped to an aluminum corner key.

Sash Component Parts List:

Manufacturer
US Aluminum
US Aluminum
US Aluminum
US Aluminum
Ensinger
Tremco
Tremco

Manufacturer

Description Quantity Part#
Stile/Rail interior 4 WN 406
Stile/Rail exterior 4 WN 405
Corner angle 4 CC 304
Glazing bead 4 WN 429
Polyamide thermobar 4 TB 146
Wedge gasket 4 WH 344
Glazing Tape 20 GT187
Weatherstripping:

Description Quantity Location Joinery

1/4" tall two finger 1l row  Exterior leg of vent Kerf

vinyl leaf full perimeter

1/4" diameter foam 1 row Interior leg of frame Kerf

filled vinyl bulb full perimeter

Retaining  Part#
method

Staked NP402
Staked WH342

Central Plastic

Amesbury

Glazing Details: The sash was interior glazed with butyl tape at the exterior and a snap-in
glazing bead and wedge gasket at the interior. The corners of the glazing tape were sealed

with silicone.

Rev. 09/07/05



/1 68583.01-801-47

Architectural Testing Page 3 of 7
Revision 1: 12/14/06

Test Specimen Description: (Continued)

Drainage:
Description Quantity Location
10" cut back 2 Exterior vinyl leaf weatherstrip at each end.
Hardware:
Description  Quantity Location Retaining method Part# Manufacturer
3 bar limit 2 Head and sill at 10" Two #10 x 1/2" screws WH701 Truth
device from the lock jamb
Cam lock 2 9" and 52" from the Two #10 x 1/2" screws WHO038 Bronze Craft
bottom of the lock stile
Lock keeper 2 9" and 52" from the Two #10 x 5/16" screws WHO039  Bronze Craft
bottom of the lock jamb
Hinge 2 6" on center from each ~ Four #10 x 1/2" screws and WH701 USAC/AMC
end of the hinge jamb. four #12 x 5/8" screws
Riser block 1 Sill at 16-3/4" from the = One #10 x 3/4" screw WH472 Truth
lock jamb.

Installation: The unit was sealed into a 2x10 test buck and secured full perimeter through
the frame using one #12 x 3" screw four inches from each corner and 12" o.c. thereafter.
Screw heads in the sill were sealed with seam sealer.

Test Results: The results are tabulated as follows:

Paragraph  Title of Test - Test Method Results Allowed
5.3.1 Operating Force per ASTM E 2068
Initiate motion 22 N (5 1bf) Report
Maintain motion 22 N (5 Ibf) 135 N (30 1bf)
Latches 22 N (5 1bf) 135 N (30 1bf)
53.2.1 Air Leakage Resistance per ASTM E 283
300 Pa (6.24 psf) 0.10 L/s/m’ 1.5 L/s/m’
(0.02 cfm/ft?) (0.30 cfm/ft?) max.

Note #1: The tested specimen meets (or exceeds) the performance levels specified in
AAMA/WDMA/CSA 101/1.5.2/4440-05 for air leakage resistance.

5.33 Water Penetration Resistance per ASTM E 547 (See Note #2)
5342 Uniform Load Deflection per ASTM E 330 (See Note #2)
5343 Uniform Load Structural per ASTM E 330 (See Note #2)

Rev. 09/07/05



/1 68583.01-801-47

Architectural Testing Page 4 of 7
Revision 1: 12/14/06

Test Results: (Continued)

Paragraph

Title of Test - Test Method Results Allowed

Note #2: The client opted to start at a pressure higher than the minimum required. Those
results are listed under "Optional Performance".

5.35

5.3.64.3

5.3.6.6.2

Forced Entry Resistance per ASTM F 588

Type: B Grade: 10

Disassembly Test No entry No entry
Test Bl No entry No entry
Test B2 No entry No entry
Test B3 No entry No entry
Lock Hardware Manipulation Test No entry No entry
Sash/Panel Manipulation Test No entry No entry
Sash Vertical Deflection Test

270 N (60 Ibf) 1 mm (0.04") 21 mm (0.82") max.
Distributed Load Test

300 Pa (6.2 psf) No damage No damage

Onptional Performance

4.4.2.6

4.4.2.6

Water Penetration Resistance per ASTM E 547
(without insect screen)
580 Pa (12.11 psf) No leakage No leakage

Indicator Location

Uniform Load Deflection per
ASTM E 330 End Center End Net Allowed

(Deflections were taken on the hinge stile between the hinges)

(Loads were held for 10 seconds)

3360 Pa (70.18 psf) (positive) 2mm 3mm 2mm 1 mm See
(0.09") (0.12") (0.08") (0.03") Note #3

3360 Pa (70.18 psf) (negative) 4mm Smm 2mm 2mm See
(0.16") (0.18") (0.09") (0.06") Note #3

Note #3: The deflections reported are not limited by AAMA/WDMA/CSA 101/1.5.2/4440-05
for this product designation. The deflection data is recorded in this report for special code
compliance and information only.

Rev. 09/07/05



/1 68583.01-801-47

Architectural Testing Page 5 of 7
Revision 1: 12/14/06

Test Results: (continued)

Paragraph Title of Test - Test Method Results

Indicator Location

Uniform Load Structural per

4.4.2.6 ASTM E 330 End Center End Net Allowed

(Permanent sets were taken on the hinge stile between the hinges)
(Loads were held for 10 seconds)
5040 Pa (105.26 psf) (positive) <Imm Imm <lmm <Ilmm 3 mm

(0.02™) (0.03") (0.02") (0.01™)  (0.13")
5040 Pa (105.26 psf) <Ilmm Imm <lmm <lmm 3 mm

(negative) (0.02") (0.03") (0.01") (0.01") (0.13")

Rev. 09/07/05



/1 68583.01-801-47

Architectural Testing Page 6 of 7
Revision 1: 12/14/06

Drawing Reference: The test specimen drawings have been reviewed by ATI and match the
test specimen reported herein.

Detailed drawings, representative samples of the test specimen, and a copy of this report will be
retained by ATI for a period of four years from the original test date. The above results were
secured by using the designated test methods and they indicate compliance with the performance
requirements of the above referenced specification. This report does not constitute certification
of this product, which may only be granted by the certification program administrator. This
report may not be reproduced, except in full, without the approval of Architectural Testing, Inc.

For ARCHITECTURAL TESTING, INC.

i ey

Andy Cost John Waskow
Laboratory Manager Director of Regional Operations
AC:al

Attachments (pages):
Appendix-A: Alteration Addendum (1)
Appendix B: Drawings (19)

Rev. 09/07/05



/1 68583.01-801-47

Architectural Testing Page 7 of 7
Revision 1: 12/14/06

Revision Log

Rev. # Date Page(s) Revision(s)
0 11/20/06  N/A Original report issue
1 12/14/06 2 Under Frame Construction: Changed "Stay

bar fasteners were sealed with seam
sealer." to "Limit Device fasteners were
sealed with seam sealer." Under Sash
Component Parts List: Added Glazing
Tape
3 Under Hardware: Changed "3 bar stay arm"
to "3 bar limit device"

Rev. 09/07/05



No alterations were required.

7 N
T

Architectural Testing

Appendix A:

Alteration Addendum



K HOEA TN oo

Na . DNV SOOT-G L .,
|§L ACOCINIA INSINSSYO Q0L - Lo

SSD|) 0IISDD

IR GO0/ dn=¥30R

%
i3 DEE LR

ay
) et £ X
TV ) G i T S TIPS .
i i [ —AEIED B OV SRR SIS Ll | e | 9| SNV
¥ i AL ) el OEDY Y | Wil JerRlovent Bl
TUE R R g X AT 30 L ] ¥ oy

¥
§s
2
CE:

TATMIT TRLEN ATIRE OV LV X muzeh TITLE AL

SR R DHIRE vk S A R b e e | gL

N §éﬁ¥§§¥héh~mx.¢ra RN B m.w.... . X

SRS W gk OOn v g X o] Bs | (] o
SRR VSN L3ME IR IV % il e

. .xﬁgdﬁm!ggw«ﬂm&igs. - k13

R
%ﬁgﬁtuxw{;ﬂ%:nuﬁ*..{\z s 4 38

. g b
i
1 b jelela g
£
& v iomiefrie

Sregrro Gl — _"m..ﬁ%w TR R
. TRYS W3 FHY SaNLOT | YR | B 1 € v

- AR PORJALM T HEWS: | poMhR 1 ipes { ®
AT Bty Ivel BSYE | ShTh § DEROE | £
et .

N T D

APATHAEE AAGS | Bl fisdevEn] o
con SIH WEIION BHYT MA | MDY - Aleld 1 % .
- FTi ROANIIXT QYT TR | CEou b D03 § £ |
AT O T e IH SRS | TRe | fwde b
", AT BOEHERY “RE Tt TRV T It T by |
HOESAEIg: Ol JAVE T | Y

duldeleld ool It

=

£

=
g'nﬁﬂuvw.-a-ewdn

—r—ysar d%&m,lﬂmwg = gpﬁ .ﬁﬁa. o ; _
Fom e FIYIGELYIAN H0 TIE

*PSI0U Bte SUONBIASY
"SIIBISP 3533 Ul satiduied sydures 3531

Sunsay E:ﬁﬂﬁu‘_ﬂ@%ﬁ\

A4




(O HOUY) | = uﬂ&

il

BNIZY 1D .k QO0T-5-11

3iv0

MOCONIA LNTFWSSVO DobL

war
1 EEL

JBVN

S8DJ9 OJ}SDY

AMYN BOM / dN=HION

EHNVT MOOT WOHH

O 1 TISAVIEH NOILYOOT 30IA3A UAN - O

HOOT NOHEE 81 NOLWLYOO] 007 E MMM(_M_ -0
BINYT SSNIM 40 SONE

401 ONY NOLLOE WOHD & NOLLYCOTSONIH - 8
SANVT XH50™ J0 SONE

n_O._.. ANY WOLLOE WO 6 NOLLYOOT MO0 -V

BNINIJO HONOH - OY

ONINZJO LHOTAYQ - O

NOISNIWIQ INvHL = Od

SNOUVIATHEEY OL ASM

aed
[}
— T70] 7 L guaodd
=75
aonRIed Les 5oL
wmw%omu@mwmsm&ou ¢
~ge12P ﬁ o

sunsal dﬁﬁuﬂﬁuz &

JTvOS8 XZ€ NMOHS
NOLLVATIE MOANIM

SIVIMLYN 40 T8 — 24
SIWE30 Q3ONTYW3IIH — 14
J9%d NOILYAT3

TIEANT 3avd

(o¥) Feo

(as) Fzo

(Lnany Joo
T /\ T

gy mwz_x\l

/w_mzmoo HOHS & NIO3E

00 Tl @ SMHA B X TIF

/mz% %001

i 4




Ld onzve .

3d MOANIM INIFWISYD 0obL

NEULJREYSI]

© HouW) TINd ..
S00Z-9 b 114

NS

AHYN

SSD|9 0J1SD))

JWYN BOP [/ dN-M0W

f ..%n
ou e 4 -
SMINMDD 1Y 2 T3S d e s ]
L8119 Z0rdN
SO NA SO N
,E
s \\\..mim_.
i f =y [
FrEHM: M m_ f LTI BTN -
B
FOTNM
CrEHmM:

GNI v WOH3 & AY LUV,
VO LT SAHD L8 X TH

-— “ 44991, .d-ﬂ.ua.ﬂm\ 2120
\\\l\\\%\%ﬂm\f pndy
<o waa
«panoy e SUDHEL
“S|eYsp mmwﬁ {im saiduiod mﬁEm..m 1531

g

Sunisal 1RSI g

/

ALVAULSENS Y3L3NIYA l\

— ©®

ATNO THS LY ONZ HOV3 AOHJd
SOVIH WIS EINSYD 20bdN 0 230 0L WL+
ON3 JWvHd WONd ¥ 19 LNVIS
00 Tl SHd & X T
HVUISANS HILTNIMDY m @
4
—
: F:%m * +.P
& | ka8
SWSHA i X Qlé—] ._, aurTRpPaN
TLYHM
e 3
ZHEHN — ¢ 5
3 FR
5 b
e ;3
zzz28s b
apigl — =
P 4
6T NW SHANHCD LY |, Z TIvES
] {8119
Jom
_ fz
.

48112
SHINMOD 1Y Jf TH3S

d 2
LS
L3

ot . %

T ]

it L N T T

¥ 1AL L
IAVAISENS VALINNIA )

ONZ IMVHA WOY¥d & LY LUVLS
‘0'0 LZLB SMHY £ X ZI#




